v(x)

—2 .

(x,t) — Vp(x, )






w(x,t);



or 47 f*s(x)*p(x, f) + Vp(x, f)
























—27






4% f25(x)*G(x






V2G(x, %', f) = —6(x — %),



so that p(x, f)



][ atex proee. pa.



4% £25(x)*AG(x, X', f) + V2AG(x, X/, f)



—87° f*
fos(x)G(x, %', f)As(x)



AG(x,x", f) = /// 82 f2s(x)G(x, %, )G (X', X", f)As(x")dx,



0G(x,x", f)

e~ ST R)G X NG X ).






JI] 5P



][ s 5606002, PG K frues









log G(x,x", f), and



00(x,x", f)

G X? X”? f)
0s(x’) (



0G(x,x", f)
0s(x’)






00(x,x", f)
0s(x’)

where



NGx X NG X )
8 f2s(x') Gl f) )















log p(x, f)






JJ 8T FPs(x)Gx, X, ()G, x", flw(x", f)dx"
fff G(X,X’”,f)w(x'” f)dX”’ .






G(x,x',t)



u(x, x)ot — 7(x,x)]



or G(x,x', f)



u(x, x’) exp|—i27 fr(x,x)].









pict) = [ [ [uxx it = 7o )i



IVT(x,x)|° = s(x)?,



Viu
(x,x")



—0(x —x')



and 2V 7(x,x’) - Vu(x,x)



u(x,x\Vr(x,x') = 0.






V2



IVou(x)| < 2 |f].



00(x,x", f)
0s(x’)



u(x7 X,)U(X,7 X”) / "

8 f2s(x') exp{—2n f[r(x,x') + 7(x', x") — 7(x,x")]},

u(x, x")



00(x,x",t)
0s(x’)



u(x, x )u(x', x"”

—2s(x") )(5[25 —7(x,x') — 7(x', x") + 7(x,x")],and

u(x, x")



0G(x,x"t)
0s(x’)



—2s(x"u(x, x)u(x', x")o[t — 7(x,x') — 7(x', x") + 7(x,x")].






| e - yixar




wx" t —7(x,x) —

7(x', x") + 7(x, x")]dx".



w(X7 f) == w(f)é(x - XO)? then p(X, f) = G<X7 X, f)w<f)



/

00(x,xg,t —t')

0s(x’)

p(x,t')dt’



u(x, x" )u(x’,xo) ..

25(x) . t — 7(x,x) = 7(x', o) + 7(x, %0)]

u(x, Xp)



—2s(x"u(x, x )u(x', xo)w[t — 7(x,x") — 7(x', x¢) + 7(x, X0)].






u(x, x’)



